
�=HLW /LQLH 5LFKWXQJ
0RQWDJ�ELV�)UHLWDJ�DQ�6FKXOWDJHQ

�������������
����� (��� �����1LNRODXV�*UR��6WU�

�����6W��$QWRQ\�+�WWH
�����%RFNP�KOHQVWU�
�����:HVWHUZDOGVWU�
�����+�JHO��=LHJHOVWU�
�����)UHLWDJVKRI
�����0HUJHOVWU�
�����.DSHOOHQVWU�
�����=HFKH�2VWHUIHOG
�����2VWHUIHOG�0LWWH

�������������
����� (��� �����1LNRODXV�*UR��6WU�

�����6W��$QWRQ\�+�WWH
�����%RFNP�KOHQVWU�
�����:HVWHUZDOGVWU�
�����+�JHO��=LHJHOVWU�
�����)UHLWDJVKRI
�����0HUJHOVWU�
�����.DSHOOHQVWU�
�����=HFKH�2VWHUIHOG
�����2VWHUIHOG�0LWWH
�����:LWWHNLQGVWU�
�����2/*$�3DUN
�����1HXH�0LWWH�2EHUKDXVHQ
�����/LSSHUIHOG
�����)HXHUZDFKH
�����2EHUKDXVHQ�+EI

�=HLW /LQLH 5LFKWXQJ

$EIDKUW
*�OWLJ�DE�����������

7DFNHQEHUJVWU� 7HOHIRQ�
H0DLO�
,QWHUQHW�

�����������
LQIR#VWRDJ�GH
ZZZ�VWRDJ�GH

672$*�6WDGWZHUNH�2EHUKDXVHQ�*PE+��0D[�(\WK�6WUD�H�����������2EHUKDXVHQ�����HUVWHOOW�DP������������


